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Master of Arts 3rd Semester Examination

1127
ECONOMICS

(Opt. (iv) (b) Economics of Human Resource
Development)

Paper : MAECO-303 & 3O4
(In All Mediums)

Time: 3 Hours] {Max. Marks; 80

Note :- Attempt five questions in all, including question

No. 1 which is compulsory and select one question
from each Unit

1. Attempt any ten parts in 25-30 words each :

(i) What is 'Human Resource' ?

(ii) Explain Modem approach to study Human

Resource Development

(iii) Define Traditional approach to study Human
Resource Development
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(iv) Write any two emerging Human Resource
Management concepts.

(v) Give any two measures of human capital,

(vi) Explain retraining giving suitable example,

(vii) Define 'On the Job training',

(viii) What is the difference between endogenous and

exogenous growth ?

Ox) Explain any two techniques of labour demand
forecasting,

(x) Explain non-monetary incentives giving suitable

example.

(xi) What is Efficiency Wage ?

(xii) What is the difference between a strong signal

and a weak signal ?

(xiii) Define Migration.

(xiv) Does international migration increase welfare ?

(xv) Explain various types of labour market
discrimination.

Unit-I

2. Write a detailed note on significance of Human

Resource Development for an overpopulated country

like India.

3. Explain Human Resource information System.
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Unit-n
4. Critically analyse Becker's model of investing in

Human Capital.

5. Explain Romar model of endogenous growth.

unit-ra
6. How pay plans can be established in human resource

market ?

7. What is the role of Government in labour market ?

Unit-TV

8. Explain emerging challenges of migration.

9. Compare Becker's model of taste for Discrimination
with the theory of statistical discrimination.
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